
Exploded View Spare Parts
www.chainsawspares.com.au

PORTABLE LOG HORSE with CHAINSAW HOLDER

LHWCM-001 Bolt 8 x 30mm
LHWCM-002 Bolt 8 x 35mm
LHWCM-003 Bolt 8 x 45mm
LHWCM-004 Bar Guard Bolt 8 x 70mm
LHWCM-005 Bolt 10 x 20mm
LHWCM-006 Bolt 18 x 12mm
LHWCM-007 Nut
LHWCM-008 Bar clamping Eye Bolt
LHWCM-009 "O" Bolt
LHWCM-010 Bar Guard
LHWCM-011 Pivot Clamp
LHWCM-012 R clip for pivot clamp
LHWCM-013 Pivot Clamp support
LHWCM-014 Co er pins
LHWCM-015 Measuring rod
LHWCM-016 Measuring rod rubber cap
LHWCM-017 connect pipe
LHWCM-018 Support leg(le ) short
LHWCM-019 round support
LHWCM-020 rod
LHWCM-021 Main board
LHWCM-022 Side board
LHWCM-023 Support leg(right)short
LHWCM-024 Support leg long

LHWCM


